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3. 56083 UeAle] B3 2] e AL o= AQUA?

D 4.9=+0.7 ® 21+0.3 ® 14.7+21
@7.8 +1.3 ® 126+18
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56+08=56+8=7
D49+07=49+7=7
@21:03=21+3=7
@®14.7+21=147+21=7
@78+13=78+13=6
®126+18=126+18=7




3.38+0.26 [ |4.76 + 0.34
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338 26
38+0.26=—+—=338+26=
3.38 + 0.26 100~ 100 338 +26 =13

476 34
476+034=—+ — =476+34 =
76 + 0.3 100~ 100 476 +34 =14

— 3.38 +0.26 < 4.76 + 0.34




67.15 = 7.9 ]71.04+9.6
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67.15+7.9 = 8.5
71.04+9.6 =74
67.15+7.9 > 71.04 = 9.6
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@® 74 @ 8 Hj ® 8.5 H]
@9 Hlj ® 9.5 =l

25.2 + 2.8 = 252 + 28 = 9(H)
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mjebA glo]L o] Zo] 112.8 x 1.2 = 15.36(m)
whebA] St Hlo| L o] Zol= LA Ho] o] Zo] 9] 15.36 +
6.4 = 2.4(¥f) Y ct.




8. o ASHUAY FuEs 468cm® YUt ASHA S EolE

A2,

’ ,1,30m

ol) = (39) + {(12) x (2)}
=4.68 + (2.4 x1.3) = 1.5(cm)
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92.8+3.2 = 928 =+ 32 = 29(7})




H10]9] BRI 56.64kg 0] L, B]410]9] BRAE 354k Y.
7019 BRAE vlHole] BRAC 2 #jelx] FohA L.

56.64 = 35.4 = 566.4 + 354 = 1.6(HH)




